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PART—I : COMPULSORY I 11TtI: 3iicii4 

GENERAL STUDIES / '1IHfr1 3q#i,i 

1. Which of the following diseases cannot 
be cured by antibiotics? 

(a) Tuberculosis 

(b) Tetanus 

(c) Measles 

(d) Cholera 

2. Which of the following pairs is not 
correctly matched? 

(a)  Computer : Charles Babbage 

(b)  Radio Karl Benz 

(c)  Barometer : E. Torricelli 

(d)  Dynamo : Michael Faraday 

3. The communication satellites are 
invariably 

(a) revolving at their own speed 

(b) stationary 

(c) geostationary 

(d) changing their track and speed 

4. For which substance among the 
following, conductivity increases with 
temperature? 

(a) Copper 

(b) Germanium 

(c) Silver 

(d) Iron 

5. The area of a regular hexagon of side 
2J cm is 

(a) 12-J cm2  

(b) 1&I cm2  

(c) 18 cm2  

(d) i&/ cm2  

5. 2/ cm 1 TU 

(a) 12Jcm2  

(b) 18/ cm2  

(c) 18 cm2  

(d) i8,fcm2  
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3 
(a) 

8 

6. If 2x + = 3, then the value of 6. Tf 2x+=3 t, x3  +-!+2 
x 

(a)  

(b)  

(c)  

(d)  

3 

8 

19 

8 

21 

8 

7 

8  

(b)  

(c)  

(d)  

19 

8 

21 

8 

7 

8 

7. If one of the roots of the quadratic 
equation 2x2  +px+4=0 is 2, then the 

other root is 

8. In which State was the military exercise 
'Vijay Prahar' held in May 2018? 

(a) Maharashtra 

(b) Gujarat 

(c) Rajasthan 

(d) Madhya Pradesh 

9. Who has won the Women Singles Title of 
Badminton in Commonwealth Games, 
2018? 

(a) Saina Nehwal 

(b) P. V. Sindhu 

(c) K. Gilmour 

(d) Michelle Li 

10. In the World Press Freedom Index, 
2018, India is placed at 

(a) 135th 

(b) 136th 

(c) 138th 

(d) 137th  

7. rf uIiicfl 4ui 2x 2+px+4=0 I T; 

1I 2 '?, ft   ir 1iI 

(a) -2 

(b) -1 

(c) +1 

(d) +2 

8.Tr 2018   URT 3l1 '1w 
 *ii1 

(a) 1RI 

(b) tui 

11l 

(d) TU1  M1 

9. (Icf 1, 2018 If SI4 T 1fc1i c1 
i(1If IT flii ? 

(a) i.if c1Jc1 

(b) tfotoj 

(c) o Ili4 

(d) 1hift 

10. i (-c4(1dI 4c4Jc, 2018 If 

(a) 135w 

(b) 136Y 

(c) 138f 

(d) 137i 
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(a) A 
2 

(b) A 
3 

(c) A 
3 

(d) A 
4  

B C D 
3 4 1 

B C D 
2 4 1 

B C D 
1 2 4 

B C D 
3 1 2 

11. In which of the following texts, it is 
stated that those who could not speak 
Sanskrit language correctly were called 
'Mlecchas'? 

(a) Shuetashuatara Upanishad 

(b) Gopatha Brahmana 

(c) Brihadaranyaka Upanishad 

(d) Shatapatha Brahmana 

*d   ;rf tI 3; 'T' 
cf 1R11 vii? 

12. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I 

(King) 

A. Chandragupta I 

B. Samudragupta 

C. Chandragupta II 

D. Kumaragupta I 

List-if 

(Spouse) 

1. Dutta Devi 

2. Kuberanaga 

3. Kumara Devi 

4. Ananta Devi  

12. -I t fl-II 

.fl  ftii c 

ft-I 

(mn) 
A.  

B.  

C. '4H fftz 

D.  

Codes 

(a) A B C D 
2 3 4 1 

(b) A B C D 
3 2 4 1 

(c) A B C D 
3 1 2 4 

(d) A B C D 
4 3 1 2 
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13. With reference to the book Arthasha.stra, 
which of the following statements is/are 
correct? 

1. It is the oldest masterpiece on 
Indian State Policy. 

2. There is no description of Mauryan 
empire and administration in this 
book. 

Select the correct answer using the 
codes given below. 

Codes 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

14. Who among the following addressed 
Delhi as one of the greatest cities in the 
world? 

(a) Ibn Batuta 

(b) Alberuni 

(c) Farishta 

(d) Abul Fazl 

15. Who is known as the Father of India's 
Local Self-Government? 

(a) Lord Lytton 

(b) Lord Ripon 

(c) Lord Curzon 

(d) Lord Daihousie 

16. At least how many days are required 
to give the prior notice for the 
impeachment of the President of India? 

(a) 7 days 

(b) 14 days 

(c) 21 days 

(d) 30 days  

13. 311k'7TW 

1. T1thT mii14 U 
1I1l.l11 3?! RT I 

2. T iii n ii*ici i 

1iii 

Ji I1I 

(a) if 1 

(b) cf  2 

(c) 1321 

(d) T1Ult2 

14. 1i I1 t 1 c114 

ctciiii? 

(a)  

(b) 3ifl 

(c) 'ticii 

(d) 3r 

15. %Tl iir i i.ict 

isir 

(a) iT fw 

(b) iTftR 

(c) ciii I4 

(d) ffscifl 

16. RT1T 1dI fTL 

rl l t n Icq ? 

(a) 7T 

(b) 14iT 

(c) 21f1 

(d) 3O1 
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17. Who administers the oath of office and 
secrecy to the Governor of a State in 
India? 

(a) The President of India 

(b) The Vice President of India 

(c) The Chief Justice of the High Court 
of the State 

(d) The Speaker of the Legislative 
Assembly of the State 

18. Which Part of our Constitution 
envisages a three-tier system of 
Panchayati Raj? 

(a) Part IX 

(b) Part X 

(c) Part XI 

(d) Part XII 

19. Which of the following States has no 
oil refinery? 

(a) Gujarat 

(b) Kerala 

(c) Chhattisgarh 

(d) West Bengal 

20. Which of the following rivers does not 
flow in Australia? 

(a) Hunter River 

(b) Flinders River 

(c) Orange River 

(d) Gilbert River 

21. Which of the following States recorded 
decrease in its population in 2011 
Census? 

(a) Kerala 

(b) Sikkim 

(c) Nagaland 

(d) Manipur  

17. 1RI 11) 1T 
ljq.flç t i 1c1c1l ? 

(a) 'Rr T kI41r 

(b) 4R?I 1 I41f 

(c) TT -iiiv4 i 

(d) t 1T tT T .3iUi 

 i P*I 1ir 1Fn? 

(a) 'TPT IX 

(b) VTX 

(c) VT)U 

(d) W1 XII 

19. 11iR 1RTfl91 I 

(a) 1Ici 

(b)  

(c) fl*si 

(d) 1JrE 'It1 

20. 1if T-f R iWRiii 
ft%? 

(a) 1k 

(b) 1i-4  

(c) 3lftikc4. 

(d) c11 1c 

21. i-i1iRcf i'T 2011 t MIUi.iT 

iim ifiw'? 

(a) ci 

(b) 114 

(c) ii"~ 

(d) l.41( 
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22. Which 

(a)  

(b)  

(c)  

(d)  

23. Which 

(a)  

(b)  

(c)  

(d)  

24. Dudhwa 
which 

(a)  

(b)  

(c)  

(d)  

25. According 

effective 
according 

National 
current 

of the following is the most 
measure of population control 

to Malthus? 

War 

Disaster 

Birth control 

Social evils 

of the following is not a biome? 

Desert 

Grassland 

Ecosystem 

Tundra 

National Park is situated in 
of the following States? 

Assam 

Uttarakhand 

Rajasthan 

Uttar Pradesh 

to the Fourth Round of 
Family Health Survey, the 

TFR (Total Fertility Rate 

22. 1I{ 31T irRf - ;T-T 

(a)  

(b)  

(c)  

(d)  

ii-ikiiui rrr ? 

3l1T 

FI-1iu1 

tilic tI 

23. ri-ircif 

(a)  

(b)  

(c)  

(d)  

24. TT 

.7flc1W w 

i'i*cii.i 

T#ici 

Tft 

9J 

I1c1 tT4 i1-iIf 

? 

3W 

1cf 

(a)  

(b)  

(c)  

(d)  

ius 

TT.lPi 

.ir 

25. '-4f1K R4 T1T 
u1R, cicl4-114 o qo 3o ( 

children 
— 

per woman) is 

(a) 22 (a) 22 

(b) 32 (b)  3-2 

(c)  42 (c) 42 

(d) 45 (d) 45 
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26. Which of the following census years is 
known as the 'Year of Great Divide' in 
India? 

(a)  1911 

(b)  1921 

(c)  1951 

(d)  1991 

27. SRI method is related to 

(a) wheat 

(b) cotton 

(c) mustard 

(d) paddy 

28. Which of the following pairs is not 
correctly matched? 

Crop Insect-pest 

(a)  Groundnut : Pod borer 

(b)  Gram Pod borer 

(c)  Paddy : Banka 

(d)  Maize : Stem borer 

29. The rotation intensity of Maize-Potato-
Mung bean is 

(a)  100% 

(b)  200% 

(c)  250% 

(d)  300% 

30. Which of the following pairs is not 
correctly matched? 

Crop Variety 

(a)  Groundnut : Kaushal 

(b)  Mustard Vardan 

(c)  Linseed : Chamatkar 

(d)  Gram : Udai 

26. HRIrd *i1IUH1 I4l 4R1 • 

'' 1ii? 

(a) 1911 

(b) 1921 

(c) 1951 

(d) 1991 

27. To  3lRo o 1R  

(a)  

(b) 4)'*{t 

(c) 11 

(d) %TTT 

28. isHR1Rslcf T'T I1 11d wf ? 

'1!ikl(1 

(a) 4Nl : ft 1cct 

(b) T : ft  

(c)t1R : 

(d) 'l : 

29. T I-31T-T TI- t i*ii1 % 

(a) 100% 

(b) 200% 

(c) 250% 

(d) 300% 

30. 1iR wt ? 

(a) II4fl : 1ii 

(b) i.'Hl : cl(I4 

(c) 3rf1 :  

(d) RT : 31 
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PART-il : COMMERCE / flTt_II: ci1Jtq 

31. If median = 54 and mean = 60, mode 
will be 

(a) 40 

(b) 42 

(c) 44 

(d) None of the above 

32. Mean Deviation is which part of 
Standard Deviation? 

3 
(a) —  

31.1T1fi1=54 =60,ijci 
lI1 

(a) 40 

(b) 42 

(c) 44 

(d) mtR1 

32. 14c1.1, HHc1, 1i.i 

(a) 
3 

4 

(b)  

(c)  

4 
5 

5 

4 

(b)  

(c)  

4 

5 

5 
4 

(d) None of the above 

33. In a place, average rainfall was 6 cm 
during Monday to Saturday. Due to 
heavy rainfall on Sunday the average of 
the week was increased to 9 cm. The 
rainfall on Sunday will be 

(a) 255 cm 

(b) 27 cm 

(c) 285 cm 

(d) None of the above 

34. The mean marks of 100 students were 
found to be 40. Later on it was 
discovered that a score of 53 was 
misread as 83. The correct mean will be 

(a) 397 

(b) 398 

(c) 399 

(d) None of the above 

35. Reciprocal of O062 is 

(a) 01613 (b) 1613 

(c) 1&13 (d) 1613  

(d) mr1 

33. 1 lF1 t *1IIt .Ic1R 
1 6cm %fll (Ic1R 3T1T 

kiH l 3T?I I( 9cm 1llI I4c1R 

q1 41 

(a) 255 cm 

(b) 27 cm 

(c) 285 cm 

(d) Thct1R 

34. 100 T 3T 40 P1ctciI T1T 
siiwc 53 

2lTPT 83 rr7l121lI   i1 

(a) 397 

(b) 398 

(c) 399 

(d) 4thcl1R 

35. 0062 T  

(a) 01613 (b) F613 

(c) 1&13 (d) 1613 

/15-B 10 
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(b) SD 
5 

QD (d) 

36. Which relationship is not correct? 

(a) Z=3m-2 

(b) M=-(2-Z) 

(c)  

(d)  

37. Standard Deviation is calculated on the 
basis of 

(a) mean 

(b) median 

(c) mode 

(d) None of the above 

38. Coefficient of quartile deviation is 
calculated by 

(a)  (b)  
4 2 

(c)  (d)  
Q -Qi 

39. Mean Deviation is equal to 

(a) SD 
4

(b) SD 

(d) .QD (c) QD 

40. Which of the following is a relative 
measure of dispersion? 

(a) Standard Deviation 

(b) Variance 

(c) Coefficient of Variance 

(d) None of the above 

41. "Statistics is the science of estimates 
and probabilities." This statement is 
given by 

(a) Webster (b) Bowley 

(c) Boddington (d) Seligman 

42. If variance is 625, then Standard 
Deviation is 

(a) 25 (b) 15 

(c) 30 (d) 20  

36. —ii t wft %? 

Z =3m-2 

M=!(2_Z) 
3 

2 

=±(2m-Z) 
3 

37 iq  1ii TUfl 1{ 3INR 

(a) 1T 

(b) iiRici 

(c) c.11 

(d) mtT 

38. i;:;t!:1ci.1 UIicb lU  iPR • - 1#i 

(a)  (b)  
4 2 

(c)  (d)  
Q -Qi Q+Q 

39. WT Ic11 iiR kii % 

(a) 4 

(c) 3 .QD 

40. 31MruI l rHrR1d i 

(a) HIi4' 1i'i'ii 

(b) 1ui 

(c) 1w'i 1 uIIcl 

(d)  

41. "ii1ic1 3iii-i1 R 11T3it T 1n4 

(a) 1 (b)  

(c) 11si (d) i.iii 

42. TI IcRut 625 , ?I1  iit1e1.1 if 

(a) 25 (b) 15 

(c) 30 (d) 20 

/15-B 11 [ P.T.O. 
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43. A shopkeeper wants to stock shoes. The 
best suitable average for him will be 

(a) arithmetic mean 

(b) median 

(c) mode 

(d) None of the above 

44. If median is 31 and arithmetic average is 
33, the value of mode will be 

(a) 37 (b) 27 

(c) 29 (d) 32 

45. Which of the following is not a 
mathematical average? 

(a) Arithmetic average 

(b) Geometric mean 

(c) Harmonic mean 

(d) Mode 

46. If the first quartile is 142 and the 
semi-interquartile range is 18, then 
assuming the distribution to be 
symmetrical, the value of median is 

(a) 151 (b) 160 

(c) 171 (d) 180 

47. The main object of auditing is 

(a) detection of errors 

(b) detection of fraud 

(c) to find out whether Profit & 
Loss A/c and Balance Sheet show 
true and fair state of affairs 

(d) detection and prevention of frauds 
and errors 

48. Propriety audit refers to 

(a) verification of accounts 

(b) examination of accounts of sole 
proprietary institutions 

(c) examination of need and rationale 
of expenses 

(d) audit of government companies 

43. 1 cii.icit I1 i 4.-Ict q*II Ic11 %I 'H 

(a) iiIc1u1'. 

(b) TIIui1T 

(c) l.1ct 

(d)  

44. WR ifir 31 3 iiI,d  awr 33 •, 
c1ch (mode) r ii 

(a) 37 (b) 27 

(c) 29 (d) 32 

45. 4-i1Rf *.:T .11 i if)q  it rt %? 

(a)  

(b) ui 111U 

(c) uc1.1ct fl% 

(d)  

46. If N 142 
I1+'1R 18 , 1 H1kf iii.jt iifq,i 
1 jc'4 1'ii 

(a) 151 

(c) 171 

47. 31TUT T 

(a)  

(b) c'+1 i m i'iir 

(c) ?rT iiii1 i -i1 iif T 

(d) cici1 T I41 i 

48. flfçq 3iTT c1IcM4 

(a) (Ict 1c.lI'H 

(b) iqj 4'4IIlc1 ift 

(c) . 1c1,dI TlT 31lI4cq • 

(d) 10 c11 

(b) 160 

(d) 180 

/15-B 12 

https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/


49. Vouching implies 

(a) inspection of receipts 

(b) examination of vouchers to check 
authenticity of records 

(c) surprise checking of accounting 
records 

(d) examining the various assets 

50. Purchase Returns should be vouched 
with the help of 

(a) credit notes 

(b) bought notes 

(c) goods inwards book 

(d) cashbook 

51. In respect of forfeiture of shares, the 
auditor should see 

(a) Memorandum of Association 

(b) Articles of Association 

(c) Chairman's Speech 

(d) Duties of the Accountant 

52. Which of the following is called 
backbone of auditing? 

(a) Routine checking 

(b) Internal check 

(c) Verification 

(d) Vouching 

53. Internal control covers 

(a) statutory audit, internal audit and 
internal check 

(b) internal check and internal audit 
only 

(c) internal check, internal audit and 
physical control of assets 

(d) internal check, internal audit, 
statutory audit and physical 
verification of assets 

54. 'Protection of investors' is which object 
of auditing? 

(a) Social (b) Economic 

(c) Primary (d) Subsidiary  

49. iiwW 

(a) 1O'T 
(b) I'cII1 l 'iIq ' 

SP1IUIc4 

(c) 1It 1kc4,i.1 

(d) ff iifi41 i 

50. T TU 'I M1IUfrf  flfl 

(a) fiIZ 

(b) TR1Z 

(c)  

(d)  

51. .j( - iT1%T 

(a) 1T flHf 14 

(b) 1-111 

(c) Iui 

(d) i4°4 

52. Hr1Rd 

iir 

(a) Tc 

(b) ,k1TT 

(c) k1c4IL44 

(d) M 411U1.4 

53• frçc II1i 

(a) if i-ci1k 3iT 1 

31I1kcb 

(b) c4f 3iii1kct 'ii I1I 1fr11kct 3*T 

(c) 3ii-'ifkt' , 3lc1Ich 31T 11 

*fi41 i Mfl kiI'44 

(d) 1frc11k1' 'II, 311-cilkq, kUT, Tf 

54. 'fqq; 11'  31UI T -1 

(a) k1I1Ifl'1 (b) Tr1-5 

(c) SR?JtT (d) jqq 

/15-B 13 [ P.T.O. 

https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/


55. Under vouching, checking is done of 

(a) books of elementary entry 

(b) final books of accounts 

(c) Balance Sheet 

(d) All of the above 

56. For Tata Company Ltd., auditing is 

(a) necessity 

(b) luxury 

(c) symbol of prestige 

(d) necessity and luxury both 

57. In vouching, salary register should be 
compared with 

(a) payment book 

(b) cashbook 

(C) wages register 

(d) cash voucher 

58. When the audit is conducted regularly 
or irregularly throughout the year, it is 
called as 

(a) continuous audit 

(b) statutory audit 

(c) internal audit 

(d) interim audit 

59. "An auditor is not an insurer and all 
that he is required to do is to exercise 
with reasonable care and skill." This 
decision was given in the case of 

(a) Kingston Cotton Mills Co. Ltd. 

(b) Allen Craig and Co. 

(c) London and General Bank 

(d) None of the above 

60. Economic environment includes 

(a) saving 

(b) investment 

(c) price policies 

(d) All of the above 

55, flUj.{ 3Ti11 'i1i:i "iicft 

(a) 3Rf 11 ?E* 

(b) 3IIT 11 

(c) f 

(d)  

56. 1F ifl j o r 4uj  % 

(a) 3Iccbci 

(b) 11I11c1l 

(c) lrc1lJ1cb 

(d) 3I4c1I i IMIf1ctl c.I1 

57. M1iui4 T fl[fl-i lti 'iHf 9T1t 

(a) 1T61 

(b)  

(c) 4f1ç)  1i 

(d)  

58. 1 c4 32TE1 r441[T q 

'lcd1 , ñ cr 'ticii 

(a) (id 

(b) Tft 3JUT 

(c) 3ti-iF 4roi 

(d) 3IftT 3fUT 

59, { ç  . 

c4*tI SIT1 I1T 
pim 

(a) rT c4)I&f r 0  fo 

(b)  

(c)  

(d)  

60. 3TI1 IcRul 1P1'ld 

(a) 1'cf 

(b) 114'i 

(c) c-fi 

(d) Yth 
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61. Unpaid calls are 

(a) added in called-up capital 

(b) deducted from called-up capital 

(c) deducted from profit 

(d) None of the above 

62. A department transferred goods to B 
department at cost + 25%. Out of it, 
stock of ' 10,000 remains with B 
department. Therefore, the amount of 
stock reserve will be 

(a)  r2,500 

(b)  '2,000 

(c)  '3,000 

(d)  r3,500 

63. Hire-purchase price of a machinery is 
'30,000 and its cash price is 24,000. 

Payment is to be made in three equal 
instalments. State the interest of second 
instalment. 

(a)  1,500 

(b)  '3,000 

(c)  ' 2,000 

(d)  r2,400 

64. The balance of Shortworkings A/c is 
shown in 

(a) assets side of Balance Sheet 

(b) liabilities side of Balance Sheet 

(c) debit side of Profit & Loss A/c 

(d) credit side of Profit & Loss A/c 

65. In partnership, unrecorded liability is 
shown in new Balance Sheet in 

(a) assets side 

(b) liabilities side 

(c) Both sides 

(d) None of the above 

/15-B 15 

61. 39 •qi*ii 

(a)  

(b)  

(c)  

(d) mciTf 

62. A fTI cwid + 25% lT l W1 B 

Ini *i 'io,000 i B 
'iict1 I 3: *iq 

(a) r2,500 

(b) r 2,000 

(c) !3,000 

(d) '3,500 

63. t ifl.f T ii-1 '30,000 % 

j1 !24,000 ti !iW tT *14I'( fi1 

{ r%i 1c1W 1b*dT qt1 icii&i 

(a) '1,500 

(b) r3,000 

(c) 2,000 

(d) r2,400 
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66. Profit or loss on revaluation will be 
borne by 

(a) all the partners 

(b) the new partners 

(c) t}ie old partners 

(d) None of the above 

67. If closing stock is shown in Trial 
Balance, then it should be shown in 

(a) Trading A/c 

(b) Balance Sheet 

(c) Cash A/c 

(d) Profit & Loss A/c 

68. Income is measured on the basis of 

(a) dual aspect concept 

(b) consistency concept 

(c) matching concept 

(d) None of the above 

69. A trader transfers 20% of his profit to 
General Reserve. On the basis of which 
concept, he does so? 

(a) Concept of conservatism 

(b) Concept of uniformity 

(c) Realization concept 

(d) Money-measurement concept 

70. Transactions recorded on the basis of 
dual aspect concept is called 

(a) Single-entry System 

(b) Double-entry System 

(c) Double Account System 

(d) None of the above 

66. N 1 J1 c1{ ii  j1i111 

(a) P1 ii ir 

(b) R RI 

(c) $ *1II) RI 

(d) mtrf 

67.  3T1TT FII 1v1 31 ItN4t N(I 

1iqi ii',i 

(a) oIl.1R IdI 

(b) EIIT 

(c) tT?11 

(d) 4-i1Ti1 

68. WLT  HIT-U 

(a)  31TtU11 31IT 

(b) ctdJ 3TTt'TT 1NT R 

(c) '34cli WTT 

(d)  

69. ,ct oiit.O 3 20% vi iiii--{ 
m I i 

ii tn 

(a) Jc1I1c1I 3TTt'l1 

(b) lI3RiYfl 

(c)  

(d) tIHlLH 

70. 3&1T 3wrft l  
c jjçfl 

(a) ti 

(b)  

(c) ITh1ruii 

(d)  

/15-B 16 

https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/


71. Which of the following accounts is 
Nominal A/c? 

(a) Interest A/c 

(b) Accrued Interest A/c 

(c) Outstanding Interest A/c 

(d) Prepaid Interest A/c 

72. Recoupable shortworkings are shown in 
the Balance Sheet as 

(a) current assets 

(b) fixed assets 

(c) fixed liabilities 

(d) None of the above 

73. A Ltd. forfeited 500 shares of M of ' 10 
each fully called-up for non-payment of 
first call of !2 per share and final call of 
'2 per share. 300 of these shares were 

reissued at !'9 per share, fully paid-up. 
What amount will be transferred to the 
Capital Reserve A/c? 

(a) 2,000 

(c) r 1,500  

(b) '1,200 

(d) '1,800  

(a) 2,000 

(c) ri,soo  

(b) r1,200 

(d) ri,800 

74. Match List-I with List-Il and select the 
correct answer by using the codes given 
below the Lists 

List-I List-H 

A. Prepaid rent 1. Current liability 

B. Bank overdraft 2. Current assets 

C. Goodwill 3. Fictitious assets 

D. Profit & 4. Intangible assets 
Loss A/c (Dr.) 

Codes  

74. ft-I -II i 1T r1d 

_
-ll 

A. 1. iliZccl 

B. 2. 

C. ITf 3. .iic1 1l-M1f 

ID. cii (z) 4. 3TI W.Mr 

(a) A B C D 
1 2 3 4 

(b) A B C D 
2 1 4 3 

(c) A B C D 
3 4 1 2 

(d)A B C D 
4 1 3 2 

(a) A B C D 
1 2 3 4 

(b) A B C D 
2 1 4 3 

(c) A B C D 
3 4 1 2 

(d) A B C D 
4 1 3 2 
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75. Manager's commission is given at the 
rate of 10% on the profits after giving 
commission to him. If the profit before 
giving commission is rl,54,000, then 
payable commission will be 

(a) 14,000 

(b) r15,400 

(c) 16,000 

(d) None of the above 

76. 
Opening Debtors 10,000 
Sales Returns 7,000 
Bad Debts 3,000 
Cash Received from Debtors 40,000 
Closing Stock 13,000 

Find out the amount of credit sales. 

(a) r63,000 

(b) r53,000 

(c) r46,000 

(d) None of the above 

77. A and B are partners for 5 : 3 ratio. C 
joins and the new ratio agreed 4 : 2 : 2. 

Find out the sacrificing ratio of A and B. 

(a) 1:2 

(b) 1:3 

(c) 1:1 

(d) None of the above 

78. As per the rule of Garner versus Murray, 
any loss that arises due to being 
insolvent of any partner should be 
divided among other partners in their 

(a) profit and loss sharing ratio 

(b) capital ratio 

(c) average of both ratios 

(d) None of the above 

79. Loan on mortgage is shown in 

(a) liabilities side of Balance Sheet 

(b) assets side of Balance Sheet 

(c) debit side of Profit & Loss A/c 

(d) credit side of Profit & Loss A/c  

75. 1k qI4, ictl ct,4i4 

11 , 10% 11 'ticil % 
ct41I.f tIT rl,54,000 , ?11 

q,41i- ir 

(a) '14,000 

(b) 15,400 

(c) 16,000 

(d)  

76. 
iR 10,000 

f~  iq 7,000 
3T5flBtU1 3,000 

 I 3UB 40,000 
13,000 

rfiii cliI 

(a) '63,000 

(b) r53,000 

(c) '46,000 

(d) ThclRI 

77. A 1l 8, 5 : 3 3RT? 1IR l C M1 
c1f R1 3TT 4 : 2 : 2 RT t 51T I 

A 111 BT iPi 1ii TF11 31T1 1T 

(a) 1:2 

(b) 1:3 

(c) 1:1 

(d)  

78. T1T4 'MI4 I4 311R, ift 
cUj i1 I 34 ci 

G11cI 'iiiF TI 

(a)  

(b)  

(c)  

(d) c4R 

79. T 1l4T '1R11 

(a)  

(b)  

(c) 11T-Tf  1Z i 

(d)  
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80. Stock A/c is a 

(a) Personal A/c 

(b) Nominal A/c 

(c) Real A/c 

(d) Statement 

81. Depreciation is caused by 

(a) price fluctuations 

(b) accident 

(c) use of asset 

(d) None of the above 

82. Goodwill is a/an 

(a) current asset 

(b) liquid asset 

(c) fixed asset 

(d) intangible asset 

83. Preliminary expenses of a company 
should be shown in the fmal 
accounts on 

(a) assets side of Balance Sheet 

(b) liabilities side of Balance Sheet 

(c) debit side of Trading A/c 

(d) credit side of Profit & Loss A/c 

84. Which of the following is not a current 
asset? 

(a) Bank overdraft 

(b) Closing stock 

(c) Debtors 

(d) Bills receivable 

85. Premium received on issue of shares is 
shown in 

(a) assets side of Balance Sheet 

(b) liabilities side of Balance Sheet 

(c) credit side of Profit & Loss A/c 

(d) debit side of Profit & Loss A/c 

81. i{ 1 cIJU1 c1T 

(a) 4 Il*{ 

(b) 4.ii 

(c) k11-Llif M'1 

(d) mThqRf 

82. I1r,Tk 

(a) twirt 

(b) dtf  

(c) T91f 

(d) 311'r

83. 5 311 11 IIC1 MRPh  

1iii '31111 

(a)  

(b)  

(c)  

(d) 11T-I1 il T3 

84. rIRd wt %? 

(a) f44c4 

(b) 3Rii 

(c) sci 

(d) 31T'T 1~M( 

85. 3T 14I4 q  3TTW fl1i'1 1Iq1 iiif 

(a)  

(b)  

(c) IlT-l1 iitz'qi 

(d) 11T-i1 I1 
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86. MO 

1n tir % 

(a)  

(b)  

(c)  

(d)  

87. T4 gJ 3 1 i % r500 
IfRf1lmI 

•q'%, i 

(a)  

(b) iPIc 

(c) ctku - 

(d)  

88. { 3lfl-i1I ift %, 

(a) c- lFft % 

(b) iiit-q Uk 1I& t 
(c) thI  cuft  

(d) d4Th 

s. L19jf ; 1IId k1191 

Lkc4 i(U % 

(a) ( ç q  cii1icf 

(b) Tl1f/  

(c) / 100 + 

(d) c4li1c, 3 - 1TI 

90. 31 3*1 14111 141 IT k1(11 %, 'ii1 3T1 

(a) M''v1 

(b) TM 

(c)  

(d)  

86. Discount allowed on reissue of forfeited 
shares is debited to 

(a) Share Capital A/c 

(b) Profit & Loss A/c 

(c) Forfeited Shares A/c 

(d) Discount on Issue of Shares A/c 

87. Goods worth 50O have been taken by 
the proprietor for his personal use, for 
which no entry has been passed in the 
books. This is an 

(a) error of compensation 

(b) error of principle 

(c) error of commission 

(d) error of omission 

88. Contra entries in cashbook are made 
when 

(a) Petty Cashbook is maintained 

(b) Simple Cashbook is prepared 

(c) Triple Column Cashbook is 
maintained 

(d) All of the above 

89. Under hire-purchase system, the 
formula to calculate value of stock at 
cost equivalent is 

(a) Selling Price - Variable Cost 

(b) Instalment Outstanding / 
Selling Price x  Cash Price 

(c) Rate of Interest / 100 + 
Rate of Interest 

(d) Actual Average Profit - 
Normal Profit 

90. Share warrants can be issued when 
shares are 

(a) fully paid 

(b) partly paid 

(c) lost 

(d) None of the above 
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91. Partner by estoppel is a 

(a) partner with limited power 

(b) nominal partner 

(c) sleeping partner 

(d) partner under special situation 

92. A partnership firm is illegal when 

(a) any of the partners is from enemy 
country 

(b) established for unlimited period 

(c) there are seven partners 

(d) registered under the Partnership 
Act 

93. Which of the following is not included in 
the Memorandum of Association? 

(a) Name clause 

(b) Jurisdiction clause 

(c) Object clause 

(d) Liability clause 

94. Which of the following features is not 
present with partnership form of 
organization? 

(a) Perpetual succession 

(b) Unlimited liability 

(c) Creation by an agreemnt 

(d) Voluntary registration 

95. 'Inspiring' is an integral element of 

93. 1i1iRid i 4{-11 tU flir I  
ii1i wt 1r iicii ? 

94.  ij c.{-ll TUT -iiIU 1'Io4 

11W1Ii t%? 

(a) 3U1-TR 

(b) 3iklThld 

(c) 1 W1c1I R1 14 

(d) k1 -9q jflq) u 

95. ' U '  T5 i1r1 

(a)  

(b)  

(c)  

(d)  

(a) staffing 

(c) directing  

(b) organizing 

(d) controlling 

(a) i1ii 

(c) IH T  

(b) 3ii41'*iT 

(d) iiui 

96. Strongest Letter of Credit is 

(a) confirmed 

(b) irrevocable 

(c) confirmed and irrevocable 

(d) revocable 

/15-B  

96. 114 3tl1f1 1i  % 

(a) jm 

(b) iitufli 

(c) 1m i 

(d) fuflq  
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(d) th ' ' 

97. Delegation of authority makes the size 
of the organization 

(a) small organization 

(b) large organization 

(c) very large organization 

(d) mini organization 

98. A company is said to have been 
incorporated when 

(a) necessary documents have already 
submitted to the registrar 

(b) certificate of incorporation has been 
obtained from the registrar 

(c) it actually starts business 

(d) None of the above 

99. Span of supervision refers to 

(a) number of subordinates 

(b) extent of supervision 

(c) quality of supervisor 

(d) nature of supervision 

100. Functional organization is based on 

(a) specialization only 

(b) generalization only 

(c) both specialization and generaliza-
tion 

(d) None of the above 

101. The Father of Scientific Management is 

(a) Peter Drucker 

(b) F. W. Taylor 

(c) Victor Vroom 

(d) Henry Fayol 

102. In a sole proprietorship, the proprietor's 
liability is 

(a) nil 

(b) unlimited 

(c) limited to his share 

(d) limited to his guarantee  

97. 3T1iTET 1 1RIl 1o4 3TIR *iiil 

(a) I1 W&1 

(b) I w{ 

(c) d I Wl&1 

(d) 31II ci, ió-I 

98. Lc4,  ci -'-41 k14-IIIèCI HU TT , 'i 

(a) .IR 1TRT 31l 'M1 

1 'ii 

(b) r1R I -Sl{II4 'MIR '1I 

(c) c4ft-ç1c4 oqI3 

101. 1IIc4 1 1 *1cl- 

(a) t1tZ 

(b) o :c1, 

(c) 1 

(d) r1 f9 

102. bc'I W-c'1 TI1 T 114cC( c1I 

(a)  

(b) 31rHd 

(c) 141II1d 

(d) 3Bt IIvJ!l it 
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103. The structure of an organization in 
which there is separation of ownership 
and management is called 

(a) sole proprietorship 

(b) partnership 

(c) company 

(d) None of the above 

104. How many P's are there in marketing 
mix of services? 

(a) Four (b) Six 

(c) Eight (d) Ten 

105. Halsey premium plan is based on 

(a) time taken 

(b) quantity of work 

(c) time saved 

(d) quality of work 

106. In an enterprise, the organization is 
established by the 

(a) top management 

(b) middle management 

(c) lower management 

(d) All of the above 

107. Line and staff organization is most 
suitable for 

(a) small enterprises 

(b) medium-sized enterprises 

(c) large-sized enterprises 

(d) cottage enterprises 

108. Marketing deals with the study of 

(a) consumer buying behaviour 

(b) sales management 

(c) consumer's satisfaction 

(d) All of the above 

103. 1 k1'If-k14*11, ff *lIflc4 
WT-3TPl Iii '1Id1 tiii 

(a) fiIIc4 

(b) iii1 

(c) ct.fl 

(d) ThclTf 

104. I 4U.{ 1iui 1I p V 

105. sftqi4 k.ir .31w1ti % 

(a) WT 4'k.ii 1T 

(b)  

(c) i11T 

(d) UIc1I1R 

108. 11uI4 111Rd fi 3UTT 

(a) T3'P1t91 qT 3 T-%fi  

(b) I{51 

(c) 1l 

(d)  

(b) : 

(d) 

/15-B 23 [ P.T.O. 

https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/


109. An organization that has developed 
capacity to adopt and change is 
described as 

(a) virtual organization 

(b) learning organization 

(c) developing organization 

(d) changing organization 

110. The World Trade Organization (WTO) 
started functioning legally on 

(a) 1st January, 1991 

(b) 1st January, 1995 

(c) 1st January, 1999 

(d) None of the above 

111. An economic environmental factor is 

(a) emphasis on knowledge manage-
ment 

(b) national income and its distribution 

(c) profitability and its distribution 

(d) changing workforce profile 

112. Planning job requirements has which of 
the following sequences? 

(a) Job information, job description, 
job evaluation 

(b) Job evaluation, job information, job 
description 

(c) Job description, job evaluation, job 
information 

(d) None of the above 

113. As per Section 2(68) of the Companies 
Act, 2013, a private company should 
have a minimum paid-up share capital 
of 

109.   3f  3R cici T1TiT 

1T ', 

110. iE oqj-J wlo-{ (o o o) 

MI-4 

(a) 1 *i1, 1991 

(b) 1 'ii1, 1995 

(c) 1 'I-iO, 1999 

(d)  

111.  3TTf cjçjjcuflq  

(a)  

(b) 44W 31T1 T • rr 

(c) 1-Il1cl1I T T1 f ç uj 

(d) rHcbc4 

112. i4 IccM1 1Iki i 

(a) cti4 1Rl, j4 cu1.4, cti4 çqii 

(b) 4 4jcfr{,  ct)144 Rl, c4'4 c4uf 

(c) i4 c(J-{, ct)14  etI4 Ri 

(d) 

113. bJ-Lfl 3r1T, 2013 .11l 2(68) 

-icI4-I Mrf 31 

(a)  

(b)  

(c)  

(d)  

(a) !2,00,000 

(c) 10,00,000  

(b) 5,00,0oo 

(d) 1,00,000 

(a) 2,00,O00 (b) r5,00,000 

(c) 10,O0,000 (d) rl,00,000 
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114. Match List-I with List-Il and select the 
correct answer by using the codes given 
below the Lists 

List-I List-H 

A. Planning 1. Training 

B. Staffing 2. Forecasting 

C. Directing 3. Evaluating 

D. Controlling 4. Motivating 

Codes  

114. \T1I -II qçf 

_
ft—u 

A. P4l*i 1. iIirui 

B. +i1&i 2. 4l1H 

C. 1i.i 3. jqjc4 

D. 4. 3TT 

(a) A B C D 
2 1 4 3 

(b)A B C D 
1 2 3 4 

(c) A B C D 
4 3 2 1 

(d) A B C D 
2 4 1 3 

(a) A B C D 
2 1 4 3 

(b)A B C D 
1 2 3 4 

(c) A B C D 
4 3 2 1 

115. The element not necessary in each 
objective under Management by 
Objectives (MBO) approach is 

(a) cost element 

(b) human relation element 

(c) time element 

(d) measurable element 

116. The highest form of democratic 
organization is 

(d) A B C D 
2 4 1 3 

115. *1 T (MBO) 1ci1ui 
Mcct .4 RT % 

(a)  

(b)  

(c)  

(d)  

(a) line organization 

(b) functional organization 

(c) committee organization 

(d) staff organization 

(a) F. W. Taylor — 
Human Relation Approach 

(b) Henry Fayol — 
Universality of Management 

(c) Elton Mayo — 
Psychological Approach 

(d) Mary Parker Follett — 
Scientific Management 

116. cic1IIcb k1Io4 T .x4i44 MK'4 

(a)  

(b)  

(c)  

(d)  

117.  

(a) To  .sccL? - I1H44 ki- 

(b) .iU Tf — Ic41I 

(c) Lv'4 1i — i1q q uj  

(d) 'ft 'Bck Ljç  — 

117. Which of the following pairs is correctly 
matched? 
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118. Marketing functions described by 
Tousley, Clark and Clark are 

118. , c$1I  1 c4cflc RT c1ff IMuI4 

c4 

(a) 5 (b) 7 

(c) 8 (d) 10 

119. One of the disadvantages of sole 
proprietary organization is 

(a) unlimited liability 

(b) secrecy 

(c) lower cost of management 

(d) All of the above 

120. The branch of Economics which focuses 
on 'what should be' is 

(a) microeconomics 

(b) macroeconomics 

(c) normative economics 

(d) positive economics 

121. Find out from the following table by 
which law the firm is working. 

Units of Input Total Production 

1 10 

2 25 

3 50 
4 85 

5 135 

(a) Law of diminishing returns 

(b) Law of constant returns 

(c) Law of increasing returns 

(d) All of the above 

122. What should be price elasticity of 
demand by proportionate method if 
Qi=20000, Q2=25000 
P2 '8? 

(a) 125 (b) 150 

(c) 120 (d) 100 

119.   cfçcf k11 If c  

(a) 31l1r11 cI1Zçc 

(b)  

(c)  

(d)  

120. T1TA i1 ft ?4 'n R1 
ii1t:', it&% 

(a) 1IT4 

(b) 1T 1IT 

(c) 3iiiTci iii 

(d) I.Ic1ct 

121. iit1i cii1ici c4f f tj4  

?T1T 1 

1 10 
2 25 

3 50 

4 85 

5 135 

(a) 3fT i* 1ii 

(b) T1T ftIT 1I441 

(c) .c'.irrf  jqi4 

(d) jmmft 

122.Tf Qi=20000, Q2=25000; P1 ='10; 
P2=r8 , ) i1 

jft!? 

(a) 125 (b) 150 

(c) F20 (d) 1.00 

(a) 5 (b) 7 

(c) 8 (d) 10 
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123. Which among the following is not an 
economic problem? 

(a) Unlimited wants 

(b) Choice between wants 

(c) Social unjustice 

(d) Limited resources 

124. Liberalization means 

(a) reducing number of industries 

(b) reducing competition 

(c) relaxing control mechanism 

(d) free determination of interest rate 

125. The inverse relationship between 
variations in the prices and quantity 
demanded is not due to 

(a) future expectation 

(b) income effect 

(c) substitution effect 

(d) law of diminishing marginal utility 

126. Long-run cost curves are called 

(a) operating curves 

(b) fixed curves 

(c) variable curves 

(d) planning curves 

127. Which of the following is called Gossen's 
first law? 

(a) Law of substitution 

(b) Law of equimarginal utility 

(c) Law of diminishing marginal utility 

(d) None of the above 

128. Which equation is correct in the case of 
monopoly? 

(a) AR = MR (b) AR> MR 

(c) AR < MR (d) AR = MR 0  

123. 1iR,ct T1- T 3;lf; *n 
wt ? 

(a) 31*flrHcl tc1I 

(b) Ict1I3 1 ii4 

(c) k1IHlIIct 3TR1 

(d) *O1drm1 

124. 31TTT c1F % 

(a) 3111i1 t 11 €gpii 

(b) Plc1[qZTRT 

(c) l-wi- ii  

(d) i4il 

125. j{ ffl TITTI TT 41k.1 
W l qR'T r 

(a) M4IkiF 

(b) 31T11 

(c) 1TI 

(d) *fl1H 4flii R1  

126. cfl4clId14 c1I'Id cb1 TfflT % 

(a) 1IcH 

(b) IK 

(c) 1c4W 

(d) Ik.fl 

127. -i1iRci - i iH 5l N Il4{ T 

iir 

(a) fl111&{ 

(b) PI-kflHfrd iPcii 1l14 

(c) A1u-ci iflit Ii 

(d)  

128. i1eii. ii 'i ? 

(a) AR=MR (b) AR>MR 

(c) AR<MR (d) AR=MR=0 
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129. Demand for comforts is 

(a) highly elastic 

(b) elastic 

(c) inelastic 

(d) None of the above 

130. Maithusian theory of population is 
based on 

(a) law of demand as applied to 
population 

(b) law of diminishing return as applied 
to agriculture 

(c) law of marginal utility as applied to 
agriculture 

(d) law of marginal return as applied to 
population 

131. In perfect competition, the demand 
curve of a firm is 

(a) vertical 

(b) horizontal 

(c) positively sloped 

(d) negatively sloped 

132. 'Reasoning from the general to the 
particular' in Economics is called 

deductive method 

inductive method 

experimental method 

None of the above 

133. If price of any commodity decreases by 
20% and the demand for that 
commodity increases by 40%, then 
elasticity of demand would be 

(a) perfectly elastic 

(b) perfectly inelastic 

(c) unit elastic 

(d) highly elastic  

129. 3111T cR% 

(a) 31f 

(b) iit 

(c) 31I1R 

(d) ThctRf 

130. 1iii1 T T2R 31TT11t 

(a) 1i 
(1l 

(b) Iw4I4 Rii fi 1R, T 
tI(1F 

(c) kI1HI-d 1)PIdI l 1ii.i t, rT 
c1I'Llctl 

(d) *Iu11frI MI141 Ii R, 1T Hisii R 
TPL 1r% 

131. 

(a) 1cj ki1 % 

(b) lcii % 

(c) tHtcllc4, ;q tti 

(d) ftUlIcl4c q l)ci1 • 
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134. Economics has been defined as a 
science of unlimited ends having scarce 
means having alternative uses by 

(a) Adam Smith 

(b) Alfred Marshall 

(c) A. C. Pigou 

(d) Robbins 

135. One of the essential conditions of perfect 
competition is 

(a) only one price for identical goods at 
any time 

(b) product differentiation 

(c) multiplicity of prices for identical 
product at any one time 

(d) many sellers and few buyers 

136. Which condition of the following is 
shown by improvement in regular 
declining price level? 

(a) Inflation 

(b) Deflation 

(c) Reflation 

(d) None of the above 

137. In the process of disinflation, the rate of 
inflation 

(a) decreases 

(b) increases 

(c) remains constant 

(d) None of the above 

138. Which of the following would be treated 
as 'worst money' according to Gresham's 
law? 

(a) Representative paper money 

(b) Convertible paper money 

(c) Non-convertible paper money 

(d) Fiat money  

134. i11 i*1)1i ni i, 
fIR ct)fc4, s'i4l  L iin;i 
fnfm II 

(a) 4 fIi 

(b) 3IT11 

(c) o 4o 41L 

(d) 11-*{ 

135. 1 R1L 3i1ci4 Ici1 

(a)  

(b) ScMi firi 

(c) 11 If  WI WII4 cM! 11L jfj 

(d) 31ttdF 

136. jc-q R Tfi Ifc 1'lIcic ' ii f{ 

(a) wl1i 

(b) l-ki'11 

(c) i-*wuIi 

(d)  

137. T-1M+lfI MI11 

(a) tic11% 

(b) Ift% 

(c) c1I% 

(d) 4ThcllRt 

138. I4 1I{ R, if 4- 'T 
r'ft? 

(a) MIIIT 11I 

(b) '414s1k ii 

(c) 31'kcici1kt 

(d) TtI 

/15-B 29 P.T.O. 

https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/


139. If bank rate is reduced by RBI, credit 
creation will be 

(a) reduced 

(b) constant 

(c) increased 

(d) None of the above 

140. Which of the following banks stimulates 
the agricultural and rural development? 

(a) EXIM Bank 

(b) Exchange Bank 

(c) HDFC Bank 

(d) NABARD 

141. Which one of the following is not a 
method of credit control? 

(a) Bank rate policy 

(b) Open market operations 

(c) Cash reserve ratio 

(d) Credit deposit ratio 

142. Which one of the following is not a 
function of Central Bank? 

(a) Monopoly of issuing note 

(b) Credit creation 

(c) Custodian of foreign exchange 
funds 

(d) None of the above 

143. How many letters and digits are there 
in IFSC? 

144. "Money is a standard for deferred 
payments." This function of money 
comes in the category of 

(a) primary function 

(b) secondary function 

(c) contingent function 

(d) Other function  

139. ftr   RT c* q, i4 

(a)  

(b) T1t 

(c)  

(d) th'tR 

140. 1-1 f4 i  i4ui IIk1 
1c*iicf cic1l 

(a) 1j1H ct) 

(b) rr c4- 

(c) 90 o tqo o cf 

(d) TTT 

141. 1{ Lc (i&: 1iui T 4U4 

Rt ? 

(a) b*fI 

(b)  

(c)  ct31T?I 

(d) k1I 'Hl 3lTI 

142. iikd 4-1 lg  i  

(a) ?t? IiM r 

(b) k1R1ftr?UT 

(c)  

(d) c4  .j 

143. 3o 10 Io o 3 

(a) 7 (b) 10 

(c) 13 (d) 11 

144. "t i.ic ti" i 
c4 1H i 31T?IT%? 

(a) 312lTh ct4 

(b) 1'21Th ct4 

(c) 3ic4-J c j4 

(d) c. j4 

(a) 7 

(c) 13 
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145. Online banking is not known as 

(a) Internet banking 

(b) virtual banking 

(c) e-banking 

(d) instrument banking 

146. Which of the following is not the plastic 
money? 

(a) Smart Card 

(b) Cheque 

(c) Debit Card 

(d) Credit Card 

147. Money which performs the functions as 
medium of exchange is called 

(a) commodity money 

(b) accounting money 

(c) real money 

(d) None of the above 

148. Which of the following sanctions foreign 
exchange for import goods? 

(a) Exchange Bank 

(b) Reserve Bank of India 

(c) Ministry of External Affairs, Go! 

(d) None of the above 

149. When supply of money declines, then 
price of goods 

(a) increases 

(b) decreases 

(c) remains constant 

(d) None of the above 

150. Regulatory authority of regional rural 
bank is 

(a) NABARD 

(b) Central Government 

(c) State Government 

(d) Sponsor Bank  

145. 3Tii.i 1r 1  i 

(a) 1i 

(b) TT UT 

(c) -1t 

(d) fr1R 1r 

146. 1RiRsc iiP i rt ? 

(a)  

(b)  

(c)  

(d) fZ ct,I 

147. 1, 11i4 
cb1I& % 

(a)  

(b) l 

(c) c1I+11  l 

(d) e41R 

148.I 1 

lfl 1T '4li ctkdF ? 

(a)  

(b) IT11 kic 

(c) 1T wq'R i 1fl I'II fcf 
1-iIci4 

(d) Thc41RT 

(a) dt 

(b)  

(c)  

(d) Thct 

150. i4lUl IH4 I % 

(a)  

(b)  

(c) TR Ijc4I 

(d) c1c4, 
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